

$$m\ddot{x} = -kx \quad \text{Spring (1D)}$$

$$m\ddot{x}\dot{x} = -kx\dot{x}$$

$$\frac{1}{2}m(\dot{x})^2 = -\frac{1}{2}kx^2 + C \quad \text{integrate}$$

$$\frac{1}{2}mv^2 + \frac{1}{2}kx^2 = C \quad \text{constant!}$$

kinetic energy potential energy total energy

note that $\dot{C} = 0$, so total energy is conserved.

let's go backwards

$$\frac{1}{2}mv^2 + \phi = C$$

↑ potential energy $\phi(x)$

$$mv\dot{v} + \frac{2\phi}{2x}\dot{x} = 0$$

$$mv\dot{v} = -\frac{2\phi}{2x}v$$

$$ma = -\frac{2\phi}{2x}$$

$$\Rightarrow \boxed{f = -\frac{2\phi}{2x}}$$

also true in 2D or 3D